21.09.20 Monday

LO: To find ,000 more or less tharv o giverv

C Skill: I plawvalwknowtedg@toaddj
cubtract 1000, ¢ .

D Task: I carvuse dJJ}e»ent r\epr@ser\tobﬂn& to add or
o 850,

Greater D : 1 carv use ing, skills to- explain
e e e T e o 500,



Present Neur Inr{:ovmablom:

Th H T 0O
\\ |/
295 [

Todwg/, we are p |,OOO monre or less
thmwgbvemnﬁ%.

:[SOI SOAA/SI,

4 )
O {‘}w’rhowsand&dxgb

[:ind,LOOOmm‘eor\ .




Presenty Neus InJ:owﬂahom:

Whﬂi}nwnber\l&bﬂng/' r\ep»e)smtedbflow?
What s the calculation?




Present, Newr Information:
What number is being, represented, below? 2,493

What is the caleulation? 2,953 + [,000 = 3,953




Apphé/’to Demonstrate: Oﬁmi 000 more

\/\/hai}nmber\wbang/’ r‘epp@ser\i:edbflnw?
What is the caleulation?

-
‘ | s




Appbg/to Demonstrate: Jlnd ,000 more
4,625 + 1,000 = 10,625

‘l"- +




Apphé/to Demonstrate: J:md ,000 more

\/\/hatnwnb,er\l&bﬂng/' P@PP@SEI\t@dbElOW?
What s the calculation?




Apply to- Demonstrate: find ,00O more,
L8 + 1,000 = I3




Apphé/to Demonstrate: J:md ,000 less

Whabr\wnber\wbﬂng' r\epp@sen.tedbflow?
What is the calculation?

A B
y 4
A A -
--




Apphé/to Demonstrate: (]:md ,000 less

l,I77 -1000 = 3177

A A
A
A A -
--




Apphé/to Demonstrate: J:md ,000 less

\/\/hai}nmber\wbang/’ r‘epp@ser\iedbflnw?
What s the calculation?




Apply to- Demonstrate: find, 000 less
6,350 - 1,000 = 5,35L,

1000 K 1000 @ @
1000 | 1000 @ @ * @




AP/P,lJé/tO' Demonstrate: J:md ,000 less

Whﬂbmmb@r\ls/bﬂngmep»@sentedbdow?

What is the calculation?




Appbg/to Demonstrate: Jlnd ,000 less

LI38 - 1,000 = 133




ZIOq.ZO - Wn&eﬂw&shontdotemgounboohondjundex\hnew Thern draw o 2 SQMANe MArgN.

Core skill, - Wiite these into- your book.
Find 1,000 more or less thar each
number.

,000 less | number | 1,000 more

,006

3,356

9,502

6,918

,9L.6

Depth task one - Completethemw/smg/boxe&

4,896 = + 1000 —ﬂ ?

3784 r—— ? H 2784

? ‘%» ~ 1000 =3»{ 986

Depth task two- - RePme&Pndmg;’ ing the walue
A and B. OOC

T T T |

5,364 [ B ] 7.364

-

He says,

A equals 6,364 because itis
i, 1,000 more than 5,364. B
> >

equals 8,364 because it is
1,000 more than 7,364.

e’

Is he correct? Ex{ﬂoinl wh)é/




An&Uef\Sl
Core skill, - Wiite these into your book.
Find 1000 more or less thar each
number.
1000 less | number [1000 more
506 ,506 2,506
2,356 3,356 [,,356
8,502 9,507 10,502
5,dI8 6,dI8 7,418
qL.6 ,9L.6 2,9L.6

_Depﬂh’wdb one - comfﬂfif/th@ MissiNg boxes.
[ 4896 > +1000 = 5896 |
[ 3784 > —1000 >{ 2784 |
[1086 F=>{ —1000 =>{ o986 |
Depﬂm’task/two - Reharv s finding the value of
A and B.
T T T T 1 ]
5,364 [ B ] 7.364
He says,
AiA equals 6,364 because it is]
P - 1,000 more than 5,364. B
2 e equals 8,364 because it is
aett 1,000 more than 7,364.
Is he conrrect? Explairv whxé/
/Rehmwmcormbmusethenwnbmmwmueo&nngOOO.\
A 1,000 less tharv 5,36L = [,,36L,.
B s 1,000 more tharv 5,36L. or [,OOO less than 7,36L. = 6,36L,.
He/ha&m‘easedzboﬂvvahmb%/LOOO, msi‘eadojilookmgzabﬂw
Kposxhom of A and B. y




Gr\eatfwd.eot

Find the odd, one out. Wmt@tzubth@
chxldf\ens/nwnbfpsequﬁnce/
g,oujsobwe/ﬂr\ejodd/on@ hfip

4 )
My sequence increases in 1,000s

from four thousand, nine hundred

and fifty-six. It has four numbers.
g J

4 N\
My sequence starts at 1,000 less than

6,956. It decreases in thousands and
only includes 4-digit numbers.

N\ J
4 My sequence decreases in 1000s. )
My starting number is 1,000 less than

Jamie’s and my sequence has four

\ numbers. )

RE’JV‘@OLOI\BM}E’J\S/




 Greater depth,

childrery s/nwnbfpsequmce/

4 )
My sequence increases in 1,000s

from four thousand, nine hundred

and fifty-six. It has four numbers.
g J

4 N\
My sequence starts at 1,000 less than

6,956. It decreases in thousands and

only includes 4-digit numbers.
N\ J

4 My sequence decreases in 1000s. )
My starting number is 1,000 less than

Jamie’s and my sequence has four

\ numbers. )

Jamie's sequence & the odd one oub
because his sequence is:

5,456, [.,956, 3,956, 2,956, |,956.

He ha&oﬁwe rumbers.

Lly's s
L%%6, 5,456, 6,956, /,956.

Adamv's usi
[.,956, 3956, 2,956, [,956.

| and: Adam harve the same




22.09.20 [uesdayy

Core Skilli I carv use plﬂwvalwkno«dﬁdg@to

D Tafskzlmsoh»e@problmu’wewpim
wﬁnmmhwagmmm.

t(ﬁwr\eatnge,pﬂu L carv find all possible answers to




Pl L: Pose a dilemma.

%@ ?2 / PLL LPA/SEN: Partifion
% the 2 dxg;tt numbers into

Whmwug}\tl need to use these

0 tens and ones.
¥ 65, 16, 2L,

3L 72

g, LBJ

/Iu}ouLdjﬁthf/se .
S oic >+
< v

8611m

Which, symbol do I need, to use?
Hour do- I knous?

250ml [ ] 2250ml,
[.530ml | £.305ml,



Pl L: Pose a dilemma.

%@ ?2 / PLL LPA/SEN: Partifion
| the 2 dxg;tt numbers into

When might T need to use these 1 | o =zedons

symbols? >, <, =

3L 72 9 L3,

.

2543 visitors 1253 uisitons S S

/ IwouLd/mus}g/Unf/se to- \
A . i -
amounts.

Greater f | | ess
than | >‘f‘ thar
< /

8611m

Which, symbol do I need, to use?
Hour do- I knous?

250ml, (<) 2250ml,
[.530m/>] [.305ml,



PP%WN%II’\J:OWWM
Whmumoompw\@nmxbex\&weshmddjstaﬁbuﬂﬂm
Th Th
> 369 /16 L

/ thousands s more than 5 thousands.
So, 7,|6L s more thar 5,36q.

(5,369 is Less than 7,J6L)
7)6l. > 5,369 5,369 < 7,J6L,



Present New Lnformation

Th H ThH Botty numbers have 3
3822 3076 housands
What could we do- next?

We need to- momve to the next columny
8 hundreds i more than O hundreds, 5022 2 3,076

So, 3,822 s monre thary 3,076.

(3,076 s less than 3,822) 3,076 < 3,822



Apply, to- Demonstrate; Di

h, h, On your
[ 238 ql157?7 Wllml
Talhtogounpﬂm: mm|thf’l ]
V\/hi,chnmbﬂ\t&ﬂwe/lwg}@st? >0 ST
\/\/hmplacevalue/comrmdo nﬁedjtocompﬂm?

-'us/ more than
,.238QR 952



Apply, to- Demonstrate; Di

[ 238 ql5°7 WII ml
and, shour the
Y ow need to- compam’theﬂwusand&.

q,|52 s more thar L,238

[,238 < 49,57



Orv your
2673 272 /5 whitehoard, write
oub the statement

Talkt&wpw\trw: WMW| I
Whidmmmbﬂmwﬂwlapgeﬁt? >0 % 3
Whﬂvpluwvalu&colwmdowneed]tocompap@?

B i Less thony [
2 623082.275



Th H Th H
OWW
oul the statementy
and, shour the

2,215 e less thary 2,623

2,623 > 2,275



ThH T ThH T On
5303 5335 whitebodrd write
Owon%ihowth@
Tolkztogow\ : e
Whidmmmbﬂmwﬂwlapgeﬁt? >0 % 3
Wth}vpiuwvalwcolunuwdogoujneedjtocompﬂm?
-Us/leszsvﬁwm-

5,303[8 5,335



0303 0339

Y ow need to compﬂpe/ﬂ*\fe/m.
5,303 s less tharv 5,335

0,303 < 5,335

On
whitehocrd, write

oub the statement
and, shour the



583 538 St e

Talkt&wpw\trw: WMW| I
Whidmmmbﬂmwﬂwlapgeﬁt? >0 % 3
Whﬂvpluwvalu&colwmdowneed]tocompap@?

B s less than (I
[.,.583(.,.538



Appbg/ to Dermonstrate:

ThH T ThH T
[, o83 [, 033
Y ow need to COmp(JP@Jd\E/ ones.

[.,038 & less tharv [,083

[,283 > [,033

s

On
whitehocrd, write

oub the statement
and, shour the



ZJEOq.ZO - Writeth&shortdai:e%gounbookzondjund&\brwib Therv draw a 2 SQMANe MArgiN.

Core, Skill,
Use the correct symbol to- compare each set of numbers. >, < o =

ThH T O ThH T O
670&. 6 3 0 Z

L 9 9 8 . L 9 8 &8
3 0 3 . 3 0O 3 7/
2 0O 7 | . TWWI@MWW
3 3 S5 6 3 L S5 6
/L 5 8 / L 8 6




AH&UCI‘SI

Core Skill

Use the correct symbol to- compare eachy seb of numbers. >, < o =,

ThH T O
6 / 0O L

L 9 9 8
3 0 3 7/
2 0 7 |

NV AN

ThH T O
6 3 0 /¢

L9 8 8
80 3 7
Two thousand, and, seventiy one
3 L 5 6
7 L 8 6




-Deoi;mtws
OWW@EV@WWW‘&

My number is smaller than
Aol Evie's number because | have
) i

three thousands, eight
hundreds and six ones.

Oliver

My number is smaller than
Oliver's number because |
have 3,000 + 9200 + 60 + 9.

Evie

Who- is correct? Explain hour yow knows

JEBEME]

Us&ﬁwdlg&cm*d&lt&5tu—cmnplei&ﬂwcﬂmpm{m1&
Ymmruonlg, uﬁaeud’udlglbm

564 ] < []73

2[ ]38 > 23] 5




e U

Us&t}wdlgd}c:ﬂrd&l tcr5tcvcmnp|.etath&mmpﬂﬂ.aﬂn&
}’charuonLH, u&e;em:hd.lg,ttm

Evie's number because | have
) three thousands, eight

My number is smaller than
- hundreds and six ones.

Oliver

My number is smaller than
Qliver's number because |
have 3,000 + 900 + 40 + 9.

Evie e e e o oo e o e o e o e = I

Who is correct? Explain houwr you knous. Th@IS W|MIQO%WWI|OJLWPOS&ME/
gmtepﬂxomondj5700 wgrwte»tthéO%

o064 |< | |73

Olinver’'s number s 3,806

Fuie's number s 3,960, This digib must T~
%m , 3806. a b, tharn,  564[ 1< [5]73
umber e greater thany Oliver's bigger number.  o[™3g > 23[]5



POSB&JDJ.E/ ansuenrs.

E]IIII

Use:the—cltgl.i}::ﬂrd&l t&5t&cmmpl£taﬂ'u&cmnpmm1&
}’Dwmruonl% use eachy digih onces

564(L. | < [5]73[2]

2[3]38 > 23]1]5

o064 |< | |73

564[2 | < [5173[3

2[L]38 > 23[1]5 T'F@g——m:t—h;;___th;_
ldlgmll go th@wwoac possible
56412 {?3| gmtepﬂxomand/57oo t&gx\e,atepthar\ISéO%

564 73
2[1]38 > 23[35 b@wb@tﬁ;‘]’”\ <[5

bigger number: 5[ J38 > 23[ 15




R eaies:
Whichy number s the greatest?
Which, number s the smallest?
>6 16 | 566 6196 >6 6|

Talk to- partner
Hour do you know?



23.09.20 - Wednesday

Core Skilli I carv use plawvalwkno«.df,dg@to

D Task: I carvi [y and, v the, most

Greater Depthi 1 can find, alls possible answers.




PLL: Tlustrate (draw) curvent [ vdsictotoes

f rumber and circle the
smallest number.
thmkmg/. e

AN Y




4 PLL LPA/SEN: N

PLL: e D g
smallest, number.
thmkmg/. mollest umbe




PLL LPA/SEN: N

PLL: e D g
smallest, number.
thmkmg/ mollest umbe




PheﬁmwaInJ:omhom:
3504 7 [ 753 /53 L [ 375

Lookingz ab the thousands column, 3907 must be the
smallest amount and, /953L, l&thfjlorg@stamo{mb.

H H
L /53 L3795
L3751&smallenﬂmmL753.



Present Neur Inr{:ovmabbom:

CMWMWW&P@WM&}
LOI‘ngSt? Use a whitehoard.

3oL / L /93 7253k L 372

Remember to- place a commar beteer



Present Neur Inr{:ovmablom:

We can order these from smallest to- largest!
3oL 7/ [ /23 /530 [ 3 /5

Q/An&:BSLZ L375 L 753 753L

Remember to- place a commar betuseer

X Arns: 3oL /1.3 /751 /753753L.



Appbg/ to Dermonstrate:

On white board, order these numbers
a smalL@si‘/tolnﬁg,@st: grom

w883 b.38L8 k838 Llk3383

smallest largest;
What place value columns do- yow need to- look at?



Appbé/to Dermonstrate:
Order these, numbers from smallest to- largest:

w883 b.38L8 k838 Llk3383

Amsw

bh. 388 d 388 <ol 838 al 383
sruallest Lo.ng,@st



Appl%/tomenﬁbﬂtez
Qmwwhif@boopdj,ondﬂ\’thﬁvs@numb@n&oﬁ\om
smallest to- largest:
w629l b69L2 6492l d.6[ 972

lo.ng,@st smuallest
Whﬂbplawvahwwhuﬂn@dogwnﬁedjtobohoi}?



Appbg/to Demonstrate:
Order these, numbers fromu largest to- smallest:

wb29l b.69dL2 «b6492L d6(92

Amsw

b.649L 272 692l d6LY92 abl29Ll
lw‘g@st sruallest



Wh&&ﬂwsho&datewwbook/andjundﬁnhned& Therv draw o 2 SQMANe MArgiry

25.09.20

Core skill,
therm v a/scendmg/ order
. 1,09, 190L,,, 90L,, 104,

2. L.o6/, Leo/, LO6/,  LoL/
3. /084, 6708, /048, /634

Wmtﬁth%emmb@smiowbﬁohandom
Hﬂmwd@swxdxng/ondm

L. 8L.02, 3402, 4802, 8L.93
0. 265, 2765, 2435, 2160
6. o049, 3054, [.O33, 39501

A .
Fe. 7 Smallesh to largest

&E-WW




Core skill | Answers - ascending order
i these numbers into your book and ender | Q) 00, 1109, 190L.
. 1409, 190L,, 90L,, 104L,

2. L.>67, Lee/, LO6/,  LoL7
3. /084, 6708, /048, /634

LO6/, Lol 7, 567, 66/
6 /08, /084, /048, /684

ther v descending order 4302, 8402, 8(.93, 8L.02

L. 8L.02, 8402, 9802, 8L.93
2435, 2765, 2165, 2160
0. 2165, 2765, 24935, 2160

61509, 3059, 053,  350L | 1009 £053, 350k, 3059




Depth, task,

Here, are: [our digit cards.

o]
Arrange, them to make, as many different;

Ldlgabrmmhersrﬂsagcurcmﬂndrpubﬁmrn-
L.I"‘LICIBCEI\.CIJII\.Q;DI‘CIEJ‘

|
Put, one: number in each box so- that, the, list

| of numbers is ordered, smallest, to- largest

| Can yow find more thary one way?

1000s

100s

10s

1s

1

3

7




Depth, task,

Here: are [our digit cards.

(4] (o] {&]
Arvange, therr to- make, as manyy different;

L.dqybnunimn&ﬂ&ﬁgﬂhtﬂnnuuipuhﬁumm
Uuumc&ndug}cwdﬂﬁ

1000s

100s

10s

10s

—
w

FDC)EMSilILED ANSAEISL

3045 (035 (350 503
300k (053 530 >530L
300 (305 503 53L.0
3940 (350 5043 5L03

Thex\e/or\e/mor\e/pos&b).lm ities to be
[:ounda&longza&thejnmxbﬂ\&ane

—t ] el ] el | el ) e

Dl |Wln =

ol ]ln |-

mloolololrn N

o) |elU | v | w




2L..09.20 - Thursday - PPA
LO: To | Segience ands pﬂﬁa\r\& when
counting 2%5/.
Core Skillz 1 cam\derw theseqwmwhﬂh
counting irv 29s.

D Tafsklecamidenbafg/' t}we/er\r\ontrvo/sequmw



PP@PQF@GEOP L@OIY\U’"\%/

2D

200 /5

WMWWWMU\E/
sequences?

50

fe

00 125

25

00

Challemg,e/ What s the same abouly both,

Sﬁq}iﬂlﬁej&?

TAs - Let's counb
upumZKS)/ 5s and
S,




PP@POF@OEOP Leaprung/:
20 o0 /o 100 29 150 |/5

200 /5 B0 25 100 /5 50

sequences? TAs - Let's counb
up'ust/, 5s and
Challﬁng,e/—Whabl&Urwsamobﬁubboﬂv I0s.




PP%enhr\g/nwrqu:onmobﬁm

WWWO} mHowman%/baugon@doweadv
child, hame?

sther F‘l*P

Filip Eva

m
—

T m




The children, hame packets of

Filip

Eva

Mo

Esther

3B

BB
3

25

/

3
3B

@

25
[

/

T

25

/

3

+ Filip 50
. Eug, 75
. Mo 100
. Esther 125

b. Howman%/baﬂoon&amﬂf\mw
6padqei>?

We could add 25 to Esther's total
amount.

25+25= 150



Appbg/ to Dermonstrate:

200 | 225 | 250

750 | 725 | 700

Talktogouppm\tnen:
Complfi@ﬂw@numb@r\tr\od@.
What wmwmsw?
What s similar? What s different’?




Appbg/ to Dermonstrate:

200

225

250

275

300

325

350

375

750

725

700

6/5

650

625

600

o/5

Talktowpm\tnen:
Complfibﬂw@numb@nm.
What l&ﬂwmnMsequm?
What s similar? What s different’?



| | |
?????????

b)

IIIIIIIIIIIII
IIIIIIIIIIIII
000000000000

Talk to your partner:
Work o whot, th intoruale, are, worth?

Whabnumb@n@amth@m&px}mhngﬂuﬁ




2 85 875
I
b) 150 275
|||||| + | | | | Jlr |
Talk to- your pm\fma\

Work ouly what the intervals are worth?
Whabnumbﬂ\gopethﬁmpx}mhngﬂuﬁ



Apply, to- Demonstrate;
RorvwcounhnguprSs/aﬁ\omOto|OOO.

_o 25, 50 .
Talk to
What rumbere Eolod ool Rory say?
51 100 175 305

90 258 720 725



Apply, to- Demonstrate;
Romt&counhnguprSs/aﬁ\omOto|OOO.

O 25; 50 ;

Talk to
What, mmm Ron say?

st Cio0> Q75 D 3
90 258 720 @



Wmi@th&shontdot&wwboohandund@hrww Thery drawr a 2 SQMANe MArgn.

21..09.20
Core. sl Wee thece inio your book.and | Dher @/ pquare mapgin
. 175, 150, 00, .50 Remermber to write |
2.125, 150, ,200, 250 digit: per square.
3. . , 175, 150, 125, 100 At the wplg.ﬁ to
L. 325350, 100 oy jouk e
5.325, 275 ___ 225, 200
6. 625, 575,550,525,




a

Answe,r\&

. 175,150,125 100, /5. 50

2. 125, 150,175, 200, 225, 250
3. 225,200, |75, 150, 125, 100
L. 300, 325, 350, 3/5. 00

S. 325, 300, 275, 250, 225, 200
6. 625, 600, 575, 550, 525, 500

<




DepﬂmTa/skz Imwbﬂok&,ofindthﬁmiﬁiﬂk@andjdﬁd&lh
At%a@,us&wwplﬁpﬂhbmﬂﬁbwanﬁwm.
Depth Task

Look;abthﬁsezseqkuyuuya Irv each line, one thB/nLUHbEFSlE/UHYW%¥ Canv circle the
mistake? TWua}h%i/onezhaszbeeruckxv&}bw»giﬁl s

1. 55 105 130 155 180

2. 16 41 56 g1 116 141
3. 115 140 165 190 212 240
4, 499 524 549 574 594 624
5. 879 904 939 954 979 1004

6. 1042 1076 1101 1126 1151 1176



AH,SM}E’J\S/

55

16

115

499

879

41

140

524

904

1076

165

549

1101

130

91

190

574

954

1126

155

116

979

1151

180

141

240

624

1004

1176

25 )




22.09.20 Friday

b%:OTo round numbers to the nearest |00 or

Core Skilli I knour and canv use the rule to round,
numbers to the nearest 100 or [000.

D@pﬂwTOBk/:IcamsoWepx\oblmwsmg/'
GP@GWD@pﬂuImus@Peoﬁonmg/' to solve wonrds




PL_L Think pam share.

\N%abuaﬂwy¢%kmymﬁixbu&avquwwqgh}ﬂua
nearest |00 and, 10007

000 M?é 2000 000 M?é 2000
.86 rounded to the .86 rounded to the
nearest 100 equals 1500, nearest 1000 equals 1000,
O,L2,3,Lr©undmkmwwh>ﬂoom
5,6,7,8,qroundm4>h>ﬂub§%y



PLL:THU&qxw\§mm&

VVhab&y&wuﬁHémwmekmhu&yvmxﬂmMy}b}ﬂua
nearest |00 and, 10007

000 M?é 2000 000 M?é 2000
gttt gttt
.86 rounded to the .86 rounded to- the
nearest (00 eqyuoiﬁ 500. nearest (000 e,(yual@ |000.
When rounding to- the nearest 100, Whenr ing to the nearest
T ezt o Lo s v il b tins (00, 1 b e oowe Hhe vallus, ol




Remiewr | el your partner the rule for rounding

3, L, r\oundjdowmto(ﬂmr\

O, |, 2,
O, b, /, 3, Y POUﬂdJUP/J(OJfJ’\E/ skg/



Present Neur In{ovmabboru

ab the hundreds column to- decide what to do- next.

T TO
6295
Talk to- partner

Iaﬁwewe,r\etor\oundj j r\mbe,nuptoth@nf»d/
thousand, what would b be’?
Ioﬁwewen@';o«mmdjﬂu&numbfpdowmtoﬂw@nﬂxb
thousand, what would it be?




Present Neur InJ:ommhom:

6000 7000

Ioﬁwe/wer\e’tor\oundféqu to the next thousand,
'li'/u}O{MbeCO{T\E/7000.\§> ina this number
down would make itz 6000.

Talk to pariner:
Where would 6295Go ory this, nurmber line?



Present Neur Inr{:ovmabbom:

6000 6295 7000

—

Wmﬂdjw@m{mdj62 dpuurbtoéOOO or up to
/0007

E wploin whiy




Present Neur Inr{:ovmabbom:

6000 6295 7000

—

Wmﬂdjw@m{mdj62 dpuurbtoéOOO or up to
/0007

E wploin whiy

62495 s nearer to- 6000 than b s to- /000.
The 7 hundped&d).g).ttelb us to round, down.




Appbg/ to Dermonstrate:

3000 36*52 [,OOO

Tolk/togoup :
Roundm%toﬂ”\f/nw\@stthousand/,
whai}wouldjgowmtmdj 3652 to?



Appbg/ to Dermonstrate:

3000 36*52 [,OOO

Tolk/togoup :
Roundm%toﬂ”\f/nw\@stthousand/,
whai}wouldjgowmtmdj 3652 to?

3652 s betweery 3000 and [LOO00. We, would round,
6 hundreds up, SO- 3657 rounds to- [LO0O.



Appbg/ to Dermonstrate:

3095
8000 l qOOO

Tolk/togoup :
Roundm%toﬂ”\f/nw\@stthousand/,
whabu}ouLdjgwhoundj 3045 to?



Appbg/ to Dermonstrate:

3095
8000 l qOOO

Tolk/togoup :
Roundm%toﬂ”\f/nw\@stthousand/,
whabu}ouLdjgwhoundj 3045 to?

3045 s hetweeny 8OO0 and, 4000. We alpe,od)g/
harve O hundreds, so 80495 rounds to 8000.



Core skill,

to the nearest teru

Ei

300|0| | |.| N lwoa . 350 rounded, to- the nearest (000 -

000 | 400" 2. 1260 rounded to the nearest 1000 -

Loy

6000 :OOD 3. 6925 rounded to the nearest 1000 -
5000 e 6000 .. 5500 rounded to the nearest [000 -

I

5. 6531, rounded to the nearesh 1000 -

6. 1. 708 rounded to the nearest 1000 -

Depth task

. 3659mL of juice i oub of a
racmriy o Fioes o e

nearest, [(000mL?
2. Blal scores 1.O3 points while

' . H points does
PG o o o Ty ot
|000?

3. Li.g@r\un&h385 metres rv a

marathon.
N Howmamé/rrule&toﬂ\enean@st@@?

b. H miles to the nearest
coo?




AI’USLU@P‘S/

Core skill,

Copgth&}oﬂmu@guegﬁmwhwboohmdmmd;the
rumbers to the nearest ten.

3000

L0001 31,50 rounded to the nearest; [000 -

1000

- IEGOG 2. 1260 rounded to the nearest 1000 -

6000

:OOO 3. 6925 rounded to- the nearest 1000 =
[ ]!

5000

6000 .. 5500 rounded to the nearest, I000 =
[

5. 653!, rounded to the nearest, 1000 = /OO0

6. [. 708 rounded to the nearest 1000 - 5000

3000

000
7000

6000

Depth task,

. 3659l of juice is oub of @
A LT

nearest, [(000mL?
2. Bilal scores I[LO3 points while

i ., H i does
poying o game. o mon pourte 0
0007
3. Ly runs [.385 metres v a

marathon.
a. How marwy miles to- the nearest 007

b. Howmmxé/nules,toﬂwenewest
0007

000

11,00
1.OOO




Greater Depth
A number s rounded: to the nearest thousand.

The answenr s 7,000.

Whﬂbcould/ﬂwe/ownal;numbﬂ\hwe/bwﬁ

WW@WWPOS&H@W?
What is the, smallest possible number?




Greater Depth
A number s rounded, to- the nearest; thousand.

The answenr s 7,000.

Wlf\.ai}couLd/theomgxnaLnumber\hamebeex{?

Whabl&ﬂng\eﬂteﬁtpossiblenumbﬂ\?
\/\/hai}i&thesmollestpossiblenumbm?

POS/SLblE/ ansuenrs)

6,6/8
7123
/)92
6,94
6,089

Al ibilities must be betureery
6,500 and /,[.49

Greatest amount: /.99
Smallest amount: 6500



Rearles
Talk to- your partner

Cmgnujr\oundJZSL to- the
thousand, hundred, and, terv?

prlamgoupmfﬂwd/.
78, to the nearest thousand s
28, to the nearest hundred s

28, to the nearest tery s




-Gr\ob/a/whiebowd/ond/pﬂu
. T c&x;/@choose/-lfweb [, - Poundmg/ -
%WM/OS&%/)

. an/swe,r\s/oruthewlfui@bow\dj
°Round/90unnwnbenstoﬂ\enew‘@sb|000
« Y ow hame |0 second&toansumeaduw&hon&



https://www.topmarks.co.uk/maths-games/daily10

